Sfl6eE6H4H
BN T EERSKFE THNE 3 EXRAFABREE [FEii5R]
CGET¥8 MEEEHR 27 L7075 L)

AERRIE OB A X, 1. 2550 &, 2. 2350 &iTF,

l. ROEXLZFHATHEBICEZ R E W,

ZEHEDOBIfR L. HP TR AL TED £ A,

AL AT g missionary: E#H cannibal: A\ ATE acronym: BA T

conundrum: R intact: 52T thinking out loud: # z T\» 28R % I3
mimic: #{H3 3

(1) {EWAl 7u 27543, MEATEDIIZoTRE LEIPNT VS, HEAETEZRI W,
(2) THEQDBPTRTAREAF2HREML, HETHEARI WV,

(3) THERB) ZFIFRL 72 & vy,

@) AXF Il LTETORT VB ZAREDL S b D, HALE S0 LEBETEL X\,



2. UTo&MICEZRI W,

(1)

(2)

(3)

- (4)

ROXEHFAT, XHOZEM (7) ~ () &b BV RE L a~h OBRE
HIEU I\,

T—=XH 4TV RIE, BRKERBOT— 250 L CERAZBERE5IEHT 200
MTT, T—FH A2y RD7TaRRE, W OPDEERRATF Y TH LRV Lo
TWET, ¥9, HELRT— X PNE X, RICEHCEEL, (7) REo (4)
BITbNE T, HAT » 7T, FBEEARLD (V) # (L) KkoTF— &
LIEEFIEHL T, RIS, 7772 % AT 2 () 28U CTHEREZRT
L, BRERELZXEL £

B ¢ o BIAEE, b, IEBSDAE, o HEHENT, d \I8ML, e v o7 —2%,
£ SAEDIRE, g X2 )7 4, h BWMEELAE

T—2%y b AICOWTHIEL PRIEEL KD RS 0,

T—%ty+bA={4,926,721,12 11}

T—Z%ky FBEESML, T—Fty F CEEERELEZ W,

F— &ty b B=1{40, 48, 32, 44, 36}

UToOXEEFEFRMLDOAY vy P TFAY v bEABREZDDTH S, ELWVHD%a
~d OFERE D b —0FEUP 7 T,

AV T-2oamnE—Lin, BREEETADONT 4 —v v A0 H LT
3, TAY v b EHRCEEIERESHEZ 220, ABBEFT— 2%y FicERAT30
HEEL |

AYy R IF-RDRAT—AEEBAHT LT, B PHALHOT— 20
HBALSLT T 5, FA) v b ERLEAGHERIMA 2720, KHETF %+
vy MCERT 2 DML W,

AV P i F—RDAT—AEZH2BLLT, R BBLHEBLHOT— 20
HEA LT s, FAY v b i EEULIC X o CF — X 04 0SB E A2 B
B, TEF— X OREREDNS C L D,

AV b EHMEIC ko TF — 2 DAL E N, EREBEFAOAT 5 —
RYARALT B, TAY v b BRI K o CF - 2 OS BB L AREEL B 2
W, TOT— X ORERRDNE L RH B,



(5) =%ty DIKNLTFE% 0, HEREL 112 X cRRT gL L
TELWH D% a~d OFERF A SRUR X0,

7—%+tv } D=1{16, 24, 18, 17, 25}
EIRA -
Ty 18, fEMERE V12 RV R T 3,
1 20, fEEERZ V14 RV OB T 3,
T 118, B V14 AV TEERT 5,
T 220, BUERZE V12 AV OERELT 5,

= L =

(6) LUTFo CEECEINLZEHKOBIEIC, B data_list[5]={16, 4, 12, 20, 8} % 5 .
g, QOfTIMAEEFTINIPELRI VL, £, QOOBEFINEE
O data_list DNBEZRL, WRFEZOBEBEZRLAEI W,

void sort(int data_list[]) {

int i, j, temp;

int n=5; //lH DY 4 X

for (i=0;i<n-1;it++) {

for (j =0;j < n-i-1; j++) {
if (data_list[j] > data_list[j+1]) {

temp = data_list[j];
data_list[j] = data_list[j+11];
data_list[j+1] = temp; //(a)






